
5×3+5×2 -4×-4 = ?
✗3-16 ✗= ?
✗2+7×+6= ?



1. Descompuneti în factori primi: 
> aoibbat.IS#EaI-h5--tais)t-ab-c1

a) 43+3×72×+6=54×1+3 -✗2+2×-1-2.3 =
•

-

-14×+3) +2-(11+3)=(111-371×2+2)

b) E- ✗2-4×+4=5. ①E- 4. ✗+ 4= -

a?b?@b)Kats) 74×-11-41×-11=1×-1)lx?¥)=
- = 1×-111×2-24=1×-11,1×-21.1×+21

.

c) 4×-3+8×2-251×+21=4×4×+2) -251×+21=4+2/(4×225)
=(✗+2)[12×12-52]=1×+2112×-5112×+5) .

d) ✗3-16 ✗ (+2-16)--1142-44=1/1×-411×+4) .

e) ¥-5 -9×+9=+4×-1) -91×-11=1×-111×2-91
-

-1×-111×2-34=1×-111×-574+-3)



2 . Descompuneti în factori primi
3

a) ✗2+4×1--3 -_X+3×-1-3 = ✗(+1) +31×+1)
x-t-xti.at's) .

cantfnumerecareinmulhrtes-adea8sradunate6.to
) ✗2+6×+80=5+2×+4×+8 =X( ✗ +2) +41×+2)

☒ - ~ -1×+211×+4) .

2+42.4

e) ✗2-06×+5--5=-1-5×-1-5 __ ✗ (x-D -51×-1)
^^
-1-51.5 = (11-1)-1×-5)

.



d) ✗2+16×+63=17+7×+9×+63 -_ ✗(✗ +7) +91×+7=-1
✗ ^ -

9=(1/+7)-1×+9) .

7×+9×7.9

e) ✗2- 11×-128--15=-4×-7×-1-28 -_ ✗1×-4) -71×-4)
✗ ^

- 4×-7×4-7 = (1/-411×-7) .

e

f) I -10×+16=+2--2×-8×+16 __ ✗1¥) - 81×-2)
^^
-2×-8×2.8 =(×-2) 1×-8) .
-4¥ 4.*



g) i-6x-Y.gg#-Ix-9-I27--x(x+3)--glx+-I=+3×-7×11
= (1/+3)-1×-9) .

-27 :(71=1-3 -

h) 5+3×-74=5--1×+4×-1 -_ ✗(x - 1) +41×-1)
×
-1×+4×-1.4

= 1×-171×+4) .

i) x2 few -_ ✗2--2×+7×-14=+1×-21+71×-2)
A- A

-

=☒-2) 1×+7) .-2*7×2#-)

5) +2-8×+7 -_ Ey-7×1--7=1/1×-1) -71×-1)
-FIXED.tt) =(x- a)Hit) .
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